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1. Choose and write the cor(ect ans
following : -
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(a) What is the product of

reaction ? o
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CH3'—- C= CH + HZO
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(iiiy CH,— C—H
(v) CH,~CH, -CH,
(b) The product formed during hydrolysis of
methy! nitrile in acid medium is :
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(d)

(e)

(f)

i ich has rate
The overall order of reachon;;Nhl

2
expression Rate = K[A] [B]
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Rate = K[A]” [B ]2
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(iii) 03
(iv) Zero
The alloy containing a non-metalis :
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(i) Brass

(i) Bronze ¢
(i) Steel

(iv) White metal

A transition metal i
[Ar]3d* is in tripc

atomic number
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(i) 25
(i) 26 2
(iii) 32
(iv) 19
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(i) 01

(i) 02

(iii) 03

(iv) 04
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~ moment of Fe?

The unit of raté constant of zero order reaction
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In ZnS Crystal, Zn?'+ ionsxoccupyﬂ
void. i

————————

7nS qoeee, Zn° AR
QM | . R
Between formaldehyde and ac
which gives Cannizzaro's reactic
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What is molarity of 10% NaO
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What is the value of s
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( Answer any seven questions of the following:
. A% [ =14
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ens when calcium acetate is dry

(a) Whathapp
distilled ? o
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(b) Give two differences between
Amorphous solids. ;
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(c) Whatare antibiotiés" ?
of two antibiotics.
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(f)

(9)

‘ N
= NaOH solution, 100 ml of 5

50 ml of 10

NaOH solution and 500 ml of —Z-NaOH

solution are mixed together. What

strength of the resultant soluti

N
50 ml — NaOH @4l 100
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Explain why HCl is

at room temperatur
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() Prove that fora first order reaction the time
required for 99% completion of the reaction

is twice the time required for the completion

W S

of 90% of the reaction.
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(d) Explainthe afnphoteric behaviour of amino

acids.
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h) FeSO, soluti ' '
(h) 4 Solution mixed with (NH ),SO,

(i)

0)

solution in 1 : 1 molar ratio gives the test for
Fe?" ion but CuSO, solution mixed with
aqueous ammonia in 1 : 4 molar yatiq
does not give the test for Gu*" lonbExplam
why? o ol
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Why phenol is acidic in nature ?
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Explain

with one



GROUP - C
o — QR

Answer any three questions.
caealaq GeRIE 949 Q@ § QU1

R u§x’u i}ﬁﬁ'

A

State and explain Kohlrau mb
independent migration of s Lt

The equivalent conductance :
(A,) for sodium acetate, St (
and hydrochlonc acid are ‘7
Ohm™~"cm? geq. respec
acetic acid. el g
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Derive an expression for the rate constant of a

first order reaction. Define half-life period.
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A first order reaction takes 69 3 mlnutes for

50% completion. How much tlme W|I| t%e needed
for 80% completion ? ,3+1+3 o S
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9. (a) An organic compound (A) ‘:’ilf‘
formula Cg H O forms an or
precipitate wuth 2,4 dlmtropf‘m
and gives yellow precipitate
iodine in presence of soc}fu
neither reduces Tollen'sr‘e.l .
solution and it also do&ﬁ
bromine water or Bae

drastic oxidation WIth ¢!
a carboxylic acid _(B}vz

formula C,H‘@"
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(b) What is the Willamson synthes1s 7 2
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